# The spherical solution of the cosmology and the revised gravity field equation 

Sangwha-Yi<br>Department of Math , Taejon University 300-716


#### Abstract

In the general relativity theory, using Einstein's revised gravity field equation (add the cosmological term), discover the spherical solution of the cosmology. In this time, the cosmology constant is concerned about the Hubble's constant.


PACS Number:04,04.90.+e,98.80,98.80.E
Key words:The general relativity theory,
The revised gravity field equation
The cosmology
The spherical solution
The cosmological term
The Hubble's constant
e-mail address:sangwha1 @ nate.com
Tel:051-624-3953

## I.Introduction

This theory is that it discovers the spherical solution of the cosmology using the revised gravity field equation(add the cosmological term).

The spherical solution (The Schwarzshild solution) of the general relativity is

$$
\begin{equation*}
d \tau^{2}=\left(1-\frac{2 G M}{r c^{2}}\right) d t^{2}-\frac{1}{c^{2}}\left[\frac{d r^{2}}{1-\frac{2 G M}{r c^{2}}}+r^{2} d \theta^{2}+r^{2} \sin ^{2} \theta d \phi^{2}\right] \tag{1}
\end{equation*}
$$

## II. Additional chapter-I

In this theory, the general relativity theory's revised field equation (add the cosmological term) is written completely.

$$
\begin{equation*}
R_{\mu \nu}-\frac{1}{2} g_{\mu \nu} R-\Lambda g_{\mu \nu}=-\frac{8 \pi G}{c^{4}} T_{\mu \nu} \tag{2}
\end{equation*}
$$

Eq (2) multiply $g^{\mu v}$ and does contraction,

$$
\begin{align*}
& g^{\mu \nu} R_{\mu \nu}-\frac{1}{2} g^{\mu \nu} g_{\mu \nu} R-\Lambda g^{\mu \nu} g_{\mu \nu} \\
= & -R-4 \Lambda=-\frac{8 \pi G}{c^{4}} T^{\lambda}{ }_{\lambda} \tag{3}
\end{align*}
$$

Therefore, Eq (2) is

$$
\begin{gather*}
R_{\mu \nu}-\frac{1}{2} g_{\mu \nu}\left(-4 \Lambda+\frac{8 \pi G}{c^{4}} T_{\lambda}^{\lambda}\right)-\Lambda g_{\mu \nu}=-\frac{8 \pi G}{c^{4}} T_{\mu \nu} \\
R_{\mu \nu}=-\frac{8 \pi G}{c^{4}}\left(T_{\mu \nu}-\frac{1}{2} g_{\mu \nu} T_{\lambda}^{\lambda}\right)-\Lambda g_{\mu \nu} \tag{4}
\end{gather*}
$$

In this time, the spherical coordinate system's vacuum solution is by $T_{\mu \nu}=0$

$$
\begin{equation*}
R_{\mu \nu}=-\Lambda g_{\mu \nu} \tag{5}
\end{equation*}
$$

The spherical coordinate system's invariant time is

$$
\begin{equation*}
d \tau^{2}=A(t, r) d t^{2}-\frac{1}{c^{2}}\left[B(t, r) d r^{2}+r^{2} d \theta^{2}+r^{2} \sin \text { in }^{2} \theta d \phi^{2}\right] \tag{6}
\end{equation*}
$$

Using Eq(6)'s metric, save the Riemannian-curvature tensor, and does contraction, save Ricci-tensor.

$$
\begin{align*}
& R_{t t}=-\frac{A^{\prime \prime}}{2 B}+\frac{A^{\prime} B^{\prime}}{4 B^{2}}-\frac{A^{\prime}}{B r}+\frac{A^{\prime 2}}{4 A B}+\frac{B^{2}}{2 B}-\frac{B^{2}}{4 B^{2}}-\frac{B^{\prime}}{4 A B}=\Lambda A  \tag{7}\\
& R_{r r}=\frac{A^{\prime \prime}}{2 A}-\frac{A^{\prime 2}}{4 A^{2}}-\frac{A^{\prime} B^{\prime}}{4 A B}-\frac{B^{\prime}}{B r}-\frac{A^{2}}{2 A}+\frac{B^{2}}{4 A B}=-\Lambda B  \tag{8}\\
& R_{\theta \theta}=-1+\frac{1}{B}-\frac{r B^{\prime}}{2 B^{2}}+\frac{r A^{\prime}}{2 A B}=-\Lambda r^{2} \tag{9}
\end{align*}
$$

$$
\begin{gather*}
R_{\phi \phi}=\sin ^{2} \theta R_{\theta \theta}  \tag{10}\\
R_{t r}=-\frac{B^{\&}}{B r}=0 \\
R_{t \theta}=R_{t \phi}=R_{r \theta}=R_{r \phi}=R_{\theta \phi}=0 \tag{11}
\end{gather*}
$$

In this time, $\quad=\frac{\partial}{\partial r} \quad, \quad \cdot=\frac{1}{c} \frac{\partial}{\partial t}$
By Eq(11),

$$
\begin{equation*}
B^{\&}=0 \tag{12}
\end{equation*}
$$

By $\mathrm{Eq}(7)$ and $\mathrm{Eq}(8)$,

$$
\begin{equation*}
\frac{R_{t t}}{A}+\frac{R_{r r}}{B}=-\frac{1}{B r}\left(\frac{A^{\prime}}{A}+\frac{B^{\prime}}{B}\right)=-\frac{(A B)^{\prime}}{r A B^{2}}=0 \tag{13}
\end{equation*}
$$

Therefore,

$$
\begin{equation*}
A=\frac{1}{B} \tag{14}
\end{equation*}
$$

If $\mathrm{Eq}(9)$ is inserted by $\mathrm{Eq}(14)$,

$$
\begin{equation*}
R_{\theta \theta}=-1+\frac{1}{B}-\frac{r B^{\prime}}{2 B^{2}}+\frac{r A^{\prime}}{2 A B}=-1+\left(\frac{r}{B}\right)^{\prime}=-\Lambda r^{2} \tag{15}
\end{equation*}
$$

If solve $\mathrm{Eq}(15)$

$$
\begin{equation*}
\frac{r}{B}=r+C-\frac{1}{3} \Lambda r^{3} \rightarrow \frac{1}{B}=1+\frac{C}{r}-\frac{1}{3} \Lambda r^{2} \tag{16}
\end{equation*}
$$

In this time, be able to think following the formula.

$$
\begin{equation*}
C=-\frac{2 G M}{c^{2}}, \quad \Lambda=3 H_{0}^{2} / c^{2} \tag{17}
\end{equation*}
$$

The Hubble's constant $H_{0}$.

$$
\begin{equation*}
\frac{1}{B}=1-\frac{2 G M}{r c^{2}}-H_{0}^{2} r^{2} / c^{2} \tag{18}
\end{equation*}
$$

Therefore, $\mathrm{Eq}(18)$ is

$$
\begin{equation*}
A=\frac{1}{B}=1-\frac{2 G M}{r c^{2}}-H_{0}^{2} r^{2} / c^{2} \tag{19}
\end{equation*}
$$

To know Eq(19)'s third term, does Newton's limitation

$$
\frac{d^{2} x^{\lambda}}{d \tau^{2}}=-\Gamma_{\mu \nu}^{\lambda} \frac{d x^{\mu}}{d \tau} \frac{d x^{v}}{d \tau}
$$

$$
\begin{equation*}
\frac{d^{2} r}{d t^{2}} \approx \frac{1}{2} c^{2} \frac{\partial(-A)}{\partial r}=-\frac{G M}{r^{2}}+H_{0}{ }^{2} r \tag{20}
\end{equation*}
$$

To know $\mathrm{Eq}(20)$ 's second term, use galaxies.

$$
\begin{gathered}
V_{g a l a x x y}=\frac{r_{g a l a x y}}{T_{0}}=H_{0} r_{g a l a x y} \\
a_{\text {galaxy }}=-\frac{G M_{\text {galaxy }}}{r_{\text {galaxy }}^{2}}+\frac{V_{g a l a x y}}{T_{0}}=-\frac{G M_{\text {galaxy }}}{r_{\text {galaxy }}^{2}}+H_{0} \frac{r_{g a l a x y}}{T_{0}}=-\frac{G M_{\text {galaxy }}}{r_{\text {galaxy }}^{2}}+H_{0}^{2} r_{\text {galaxy }}
\end{gathered}
$$

$M_{\text {galaxy }}$ is the galaxy's mass, $V_{\text {galaxy }}$ is the velocity of the galaxy and the other galaxy, $r_{\text {galaxy }}$ is the distant of the galaxy and the other galaxy, $a_{\text {galaxy }}$ is the acceleration of the galaxy and the other galaxy, $T_{0}$ is the present universe's age.

## III. Additional chapter-II

Therefore, the general relativity theory's revised field equation (add the cosmological term) is written completely.

$$
\begin{gather*}
R_{\mu \nu}-\frac{1}{2} g_{\mu \nu} R-\Lambda g_{\mu \nu}=R_{\mu \nu}-\frac{1}{2} g_{\mu \nu} R-3 H_{0}{ }^{2} / c^{2} g_{\mu \nu}=-\frac{8 \pi G}{c^{4}} T_{\mu \nu}, \Lambda=3 H_{0}{ }^{2} / c^{2}  \tag{22}\\
\tilde{T}_{\mu \nu}=T_{\mu \nu}-\frac{\Lambda c^{4}}{8 \pi G} g_{\mu \nu}=T_{\mu \nu}-\frac{3 H_{0}{ }^{2} c^{2}}{8 \pi G} g_{\mu \nu}  \tag{23}\\
\tilde{T}_{\mu \nu}=\tilde{p} g_{\mu \nu}+\left(\tilde{p} / c^{2}+\tilde{\rho}\right) U_{\mu} U_{\nu}  \tag{24}\\
\tilde{p}=p-\frac{\Lambda c^{4}}{8 \pi G}=p-\frac{3 H_{0}{ }^{2} c^{2}}{8 \pi G},  \tag{25}\\
\tilde{\rho}=\rho+\frac{\Lambda c^{2}}{8 \pi G}=\rho+\frac{3 H_{0}{ }^{2}}{8 \pi G}=\rho+\rho_{c}, \quad \rho_{c}=\frac{3 H_{0}{ }^{2}}{8 \pi G} \tag{26}
\end{gather*}
$$

Invariant time $d \tau$ of the cosmology is

$$
\begin{gather*}
d \tau^{2}=d t^{2}-\Omega^{2}(t)\left[\frac{d r^{2}}{1-k r^{2}}+r^{2} d \theta^{2}+r^{2} \sin ^{2} \theta d \phi^{2}\right]  \tag{27}\\
R_{\mu \nu}=-\frac{8 \pi G}{c^{4}}\left(T_{\mu \nu}-\frac{1}{2} g_{\mu \nu} T_{\lambda}^{\lambda}\right)-\Lambda g_{\mu \nu}=-\frac{8 \pi G}{c^{4}}\left(T_{\mu \nu}-\frac{1}{2} g_{\mu \nu} T_{\lambda}^{\lambda}\right)-\frac{3 H_{0}{ }^{2}}{c^{2}} g_{\mu \nu},  \tag{28}\\
T_{\mu \nu}=p g_{\mu \nu}+\left(p / c^{2}+\rho\right) U_{\mu} U_{\nu}, \quad U_{\mu}=(c, 0,0,0)
\end{gather*}
$$

$$
\begin{gather*}
T_{00}=\rho(t) c^{2}, T_{0 i}=0, T_{i j}=p(t) g_{i j}, \quad T_{\lambda}^{\lambda}=-\rho(t) c^{2}+3 p(t)  \tag{29}\\
R_{00}=3 \frac{e^{2}}{\Omega}=-\frac{4 \pi G}{c^{4}}\left(\rho c^{2}+3 p\right)+\Lambda  \tag{30}\\
R_{i j}=-  \tag{31}\\
\left(\Omega+2 \Omega^{2}+2 k\right) \frac{g_{i j}}{\Omega^{2}}=-\frac{4 \pi G}{c^{4}}\left(\rho c^{2}-p\right) g_{i j}-\Lambda g_{i j}  \tag{32}\\
\left(\Omega+2 \Omega \Omega^{2}+2 k\right) \frac{1}{\Omega^{2}}=\frac{4 \pi G}{c^{4}}\left(\rho c^{2}-p\right)+\Lambda
\end{gather*}
$$

Therefore, $\mathrm{Eq}(30)-3 \times \mathrm{Eq}(32)$ is

$$
\begin{align*}
& -\left(6 \Omega \Omega^{2}+6 k\right) \frac{1}{\Omega^{2}}=-\frac{16 \pi G}{c^{2}} \rho-2 \Lambda \quad, \Lambda=3 H_{0}{ }^{2} / c^{2} \\
& \left(\Omega^{2}+k\right) \frac{1}{\Omega^{2}}=\frac{8 \pi G}{3 c^{2}} \rho+\Lambda / 3=\frac{8 \pi G}{3 c^{2}} \rho+\frac{H_{0}{ }^{2}}{c^{2}} \tag{33}
\end{align*}
$$

In this time,

$$
\begin{align*}
& \Omega(t)<\Omega\left(t_{0}\right)\left(t-t_{0}\right)+\Omega\left(t_{0}\right)  \tag{34}\\
& \text { If } t=0, \Omega(0)=0 \\
& 0<-\Omega\left(t_{0}\right) t_{0}+\Omega\left(t_{0}\right) \quad, \quad t_{0}<\frac{\Omega\left(t_{0}\right)}{c \Omega\left(t_{0}\right)}=\frac{1}{H_{0}} \tag{35}
\end{align*}
$$

By Eq(33), Eq(35)

$$
\begin{equation*}
\left.\rho=\frac{3 c^{2}}{8 \pi G}\left\{\left(\frac{(\mathbb{C}}{\Omega}\right)^{2}+\frac{k}{\Omega^{2}}-\frac{H_{0}{ }^{2}}{c^{2}}\right)\right\}=\frac{3 c^{2}}{8 \pi G}\left\{\frac{H_{0}{ }^{2}}{c^{2}}+\frac{k}{\Omega^{2}}-\frac{H_{0}{ }^{2}}{c^{2}}\right\}=\frac{3 c^{2}}{8 \pi G} \frac{k}{\Omega^{2}} \tag{36}
\end{equation*}
$$

By Eq(26),

$$
\begin{equation*}
\tilde{\rho}=\rho+\frac{\Lambda c^{2}}{8 \pi G}=\rho+\frac{3 H_{0}{ }^{2}}{8 \pi G}=\frac{3 c^{2}}{8 \pi G}\left(\frac{k}{\Omega^{2}}+H_{0}{ }^{2} / c^{2}\right) \tag{37}
\end{equation*}
$$

In this time, if $t=t_{0}$, the real present universe density $\tilde{\rho}_{0}=\tilde{\rho}\left(t_{0}\right)$ is

$$
\begin{equation*}
\tilde{\rho}_{0}=\frac{3 c^{2}}{8 \pi G}\left(\frac{k}{\Omega_{0}{ }^{2}}+H_{0}{ }^{2} / c^{2}\right), \quad \rho_{c}=\frac{3 H_{0}{ }^{2}}{8 \pi G} \tag{38}
\end{equation*}
$$

## IV. Conclusion

Therefore, the spherical solution of the cosmology is
$d \tau^{2}=\left(1-\frac{2 G M}{r c^{2}}-H_{0}{ }^{2} r^{2} / c^{2}\right) d t^{2}-\frac{1}{c^{2}}\left[\frac{d r^{2}}{\left(1-\frac{2 G M}{r c^{2}}-H_{0}{ }^{2} r^{2} / c^{2}\right)}+r^{2} d \theta^{2}+r^{2} \sin ^{2} \theta d \phi^{2}\right]$
(39)

It found the spherical solution of the cosmology. And the cosmology constant is concerned about the

Hubble's constant.
The general relativity theory's revised field equation (add the cosmological term) is written completely.

$$
\begin{equation*}
R_{\mu \nu}=-\frac{8 \pi G}{c^{4}}\left(T_{\mu \nu}-\frac{1}{2} g_{\mu \nu} T^{\lambda}{ }_{\lambda}\right)-\Lambda g_{\mu \nu} \tag{39}
\end{equation*}
$$

*The co-moving system is

$$
\begin{gather*}
d \tau^{2}=d t^{2}-\frac{1}{c^{2}}\left[U(t, r) d r^{2}+V(t, r)\left(d \theta^{2}+\sin ^{2} \theta d \phi^{2}\right)\right] \\
T_{00}=\rho c^{2}, \text { otherwise } T^{t i}=T^{i j}=0 \tag{40}
\end{gather*}
$$

$$
\begin{gather*}
\frac{1}{U} R_{r r}=\frac{1}{U}\left(\frac{V^{\prime \prime}}{V}-\frac{V^{\prime 2}}{2 V^{2}}-\frac{U^{\prime} V^{\prime}}{2 U V}\right)-\frac{U^{\&}}{2 U}+\frac{U^{\&}}{4 U^{2}}-\frac{U^{\& \&}}{2 U V}=-\frac{4 \pi G}{c^{2}} \rho-\Lambda  \tag{41}\\
\frac{1}{V} R_{\theta \theta}=-\frac{1}{V}+\frac{1}{U}\left(\frac{V^{\prime \prime}}{2 V}-\frac{U^{\prime} V^{\prime}}{4 U V}\right)-\frac{V^{\&}}{2 V}-\frac{4 \pi G}{4 V U}=-\frac{1}{c^{2}} \rho-\Lambda  \tag{42}\\
U=R^{2}(t) f(r) \quad, V=R^{2}(t) r^{2}
\end{gather*}
$$

$\mathrm{Eq}(41), \mathrm{Eq}(42)$ are

$$
\begin{gather*}
\left.\frac{f^{\prime}(r)}{r f^{2}(r)}+\left[R^{f} t\right) R(t)+2 R^{2}(t)\right]=\frac{4 \pi G}{c^{2}} R^{2}(t) \rho(t)+\Lambda R^{2}(t)  \tag{43}\\
\left.\left[\frac{1}{r^{2}}-\frac{1}{r^{2} f(r)}+\frac{f^{\prime}(r)}{2 r f^{2}(r)}\right]+\left[R^{R} t\right) R(t)+2 R^{\prime 2}(t)\right]=\frac{4 \pi G}{c^{2}} R^{2}(t) \rho(t)+\Lambda R^{2}(t)  \tag{44}\\
\frac{f^{\prime}(r)}{r f^{2}(r)}=\frac{1}{r^{2}}-\frac{1}{r^{2} f(r)}+\frac{f^{\prime}(r)}{2 r f^{2}(r)}=-2 k  \tag{45}\\
f(r)=\frac{1}{1-k r^{2}}
\end{gather*}
$$

Therefore, in the revised gravity field equation (add the cosmological term), co-moving system's invariant time is

$$
\begin{equation*}
d \tau^{2}=d t^{2}-R^{2}(t)\left[\frac{d r^{2}}{1-k r^{2}}+r^{2} d \theta^{2}+r^{2} \sin ^{2} \theta d \phi^{2}\right] \tag{46}
\end{equation*}
$$

## Reference

[1]S.Weinberg,Gravitation and Cosmology(John wiley \& Sons,Inc,1972)
[2]P.Bergman,Introduction to the Theory of Relativity(Dover Pub. Co.,Inc., New York,1976),Chapter V
[3]C.Misner, K,Thorne and J. Wheeler, Gravitation(W.H.Freedman \& Co., 1973)
[4]S.Hawking and G. Ellis,The Large Scale Structure of Space-Time(Cam-bridge University Press,1973) [5]R.Adler,M.Bazin and M.Schiffer,Introduction to General Relativity(McGraw-Hill,Inc.,1965)

